Math 231 Calculus 1 Spring 2012
FINAL EXAM a

Name: S“JJA"'\M&

ANSWER ALL QUESTIONS IN THE SPACE PROVIDED

Please present clear solutions and tully explain your reasoning in complete sen-
tences. Answers submitted without Justification will not receive full credit.

Do all questions in Part L.

Do any two questions in Part II. You must label the problems to be graded,
otherwise the first two problems attempted will be graded.

Only a calculator is permitted.

GOOD LUCK!
Part I Part II
1 12 1 10
2 12 2 10
3 12 3 10
4 12 4 10
5 12 5 10
6 10 Total I | 20
7 10
Total I | 80 Total | 100




Part I (Do all questions in this part.)

(1) (12 points) Differentiate the following functions. Do not simplify your an-
SWerS.
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(b) f(z) = €” cos(2z)
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(2) (12 points) Evaluate the following integrals.
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(3) (12 points) Note: the possible answers for limits are a number, +00, —oco or
“does not exist” (DNE). Justify your answers.
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(4) (12 points)

(a) Sketch
tch y = f(x) on the rig
e right hand graph.
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(5) (12 points) Consider f(z) = z° — 3z. ’F (TL) = Y - s
(a) Find the critical points for f(z).
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(b) Give the intervals for which f is increasing, and intervals for which it is
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(c) Give the intervals for which f is concave up, and for which it is concave
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(d) Decide which critical points are maxima, minima, or neither.
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(e) Sketch the graph of f(z).
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(6) (10 points) Consider f(z) = ;% - & (’L—{L)

(a) Sketch the graph of f(z), showing any asymptotes.
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(b) Find the slope of the tangent line using the derivative rules, and write
down the equation for the tangent line.

(c) On your graph above, sketch and label the tangent line at z = 2.
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(7) (10 points) A region in the plane is bounded by the z-axis, the graph y =
16 — z*, and the lines z = 0 and z = 3.
(a) Sketch and label the boundaries, and shade in the region.

P

|

K=

T K

A=3 .

(b) Compute the area of the region by writing down an integral and evalu-
ating it.

q g
\(,_,_--K:LAO(_ = \(o)(l"';"sx:&] e léj — 51 s /Sal

O



Part II (Do two questions from this part.)

(1) (10 points) Let f(z) = 2* — 22 — 2. Find f'(z) using the limit definition of
the derivative. Show all your work.
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(2) (10 points) The area of a circular oil slick expands at the rate of 10m2 per
minute. How fast is the radius growing when the area is 100m2?
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(3) (10 points) Use linear approximation to estimate v/10. Compare your answer
with value you obtain from your calculator.

f{x) = \fi‘q Ha) = 3
Py = 42 fla) = ¢

{—(HO ¢ {l(q>+ ?f(ﬂl>.l = ’34—% & | € 1568 ¢

cdual vne Vo & 3-1€13



12

4
J
S

(4) (10 points) You wish to build a rectangular window frame in the following
shape.

J
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The total length of the frame should be 40ft. The total length is the

perimeter plus the two vertical pieces. Determine the width and height which
gives the largest area.
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(5) (10 points) Use implicit differentiation to find the tangent line to the ellipse
4x?% + y* = 8 at the point (1,2).

or Y= 27+ 4



